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3.7 Graph Linear Functions

Remember: y =mx + b

By naming a function f,
you can write it using

function notation.
fix)y=mx +b

f(x) =mx + b

The symbol f(x) is another name for y
"the value of fat x"

"fof x"

DOES NOT MEAN "ftimes x"

Can use other letters (g, 7/, etc.)
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What is the value of the function

flx) =3x-15when@=-33 y=°
(D=3 -5

= —92-15

TED= —24 | When x=-% ,we get y=-24,

Evaluate the function
g(x) =-x+9 whenx =73
4@ =-4(8)+9

@)= ~-4+9

For the function f(x) = 2x - 10, find
the value of x so that AH=E

For the function A(x) = -2x + 4, find

the value of x so that k(¥)= 16.
k()= = 2X+Y

Lef “2xef
BFux
G=x]
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Anthropologists use the length of certain bones of the human
skeleton to estimate the‘height of the living person. One of these
bones is the femur. To estimate the heighitin centimeters of a
female with a femur length of x, the function #(x) = 2.32x + 61.41
can be used. Find 4(46) and explain its meaning.
h(x)- 2.%2¢ + el o"” When a PerSWI c
h(1) =2.3204L)+ €14l Femur length is Yoo,
h(%) = 106-#2 +6l.4] then that person's
h(49 = 16815 —  height is 168.13 om.

ot Thewnt

The value of Sally's house from 1996 to 2021 can be
modeled by the function v(x) = 5000x + 80,000, where x is
the number of years since 1996

) Graph the function and i

b) Find tho that[y(x) = 195,000.) y=mx+ b

Explain wHat"the solution means ift ’(ﬁ situation.

Y v (x)= 5S000x + 0,000
m=_5000 y-mteeo,ooo
) 1
8o,

SMHiIg poi nt
95 5000X+ 20,000
églofogg 99&{
I15,00
1 00 5503‘00 9
o 73 =x]|— 9%
S0 13X In 2019, he hovse's

1 \ja;ue was £195,000,
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